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224 234 244 224 234 QYLFJE

i iy i 3 3, 653, 247 3, 687, 884 3, 689, 569 3.1 0.9 0.0
) 1] s i 1% 1,821, 481 1,834, 028 1,837,339 3.8 0.7 0.2
B S H 5k 215, 758 219, 594 221, 602 -0.6 1.8 0.9
=2 1% s i b 706, 486 711, 678 709, 683 5.6 0.7 -0.3
JE N o 1% 909, 522 922, 586 920, 947 0.9 1.4 -0.2
1] % il 891, 284 903, 292 899, 480 1.8 1.3 -0. 4
5 i T i 145, 929 147, 558 146, 383 5.7 1.1 -0.8
S il Ol 82, 820 80, 636 86, 834 -0.4 -2.6 7.7
) i il 65, 450 65, 851 68,510 1.4 0.6 4.0
P i i 214, 589 214, 441 207,771 9.8 -0. 1 -3.1
w B Ol 211, 280 196, 850 209, 940 13.0 -6.8 6.6
J==2 g R i 52,411 57, 106 56, 242 2.8 9.0 -1.5
1K i my 21,518 22,779 21, 767 -1.7 5.9 4.4
w ] my 19, 472 20, 591 20, 352 0.2 5.7 -1.2
i Bl iy 46, 535 50, 237 47,832 -5.3 8.0 4.8
] ) g 14, 789 14, 649 13, 792 3.2 -0.9 -5.9
1] H my 16, 024 17, 744 17, 281 -3.2 10.7 -2.6
x T iy 21, 808 25, 345 23, 442 3.7 16.2 -7.5
x pa M my 17,572 16, 950 17,713 -1.5 -3.5 4.5
Fen 23 il 126, 476 127, 782 128,610 -0.6 1.0 0.6
4 il iy 11, 288 12, 149 12, 067 0.1 7.6 -0.7
5 S iy 21, 265 20, 068 20, 052 1.2 -5.6 -0. 1
% i 11, 920 12,902 13,083 0.2 8.2 1.4
=0 = JII my 16, 283 17, 700 18, 500 4.8 8.7 4.5
x 59 i 7,313 7,481 7,721 -1.4 2.3 3.2
fik JI i 11, 358 11, 360 11, 055 1.8 0.0 -2.7
= R i 9, 854 10, 153 10,514 -0.9 3.0 3.6
>k R i 342,019 342, 693 333, 963 8.8 0.2 -2.5
=3 J: il 90, 437 93, 340 92, 609 6.2 3.2 -0.8
E2] [{°) i 91, 100 89, 075 94, 280 1.7 -2.2 5.8
= =) iy 62, 334 60, 484 59,971 0.8 -3.0 -0.8
) [ii] g 40, 209 40, 736 42,999 1.2 1.3 5.6
N iy 30, 489 30, 331 30,911 9.6 -0.5 1.9
=i & iy 33,947 33, 431 36, 313 1.6 -1.5 8.6
o = i) 15, 951 21, 589 18, 636 -7.7 35.3 -13.7
el fif] i 418, 665 432, 453 430, 133 0.4 3.3 -0.5
i M i 375, 664 370, 960 370, 506 2.0 -1.3 -0. 1
= ) iy 35, 745 37, 706 37,093 -1.5 5.5 -1.6
iR N iy 47, 097 47, 844 49, 488 1.7 1.6 3.4
iz e iy 32, 351 33, 623 33, 727 -3.0 3.9 0.3
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2 LB ATHETA R mETF RS (AT : B - %)
T HE R
224 234 244 224 234 QYLFJE

i iy i 3 2,796, 714 2, 833, 806 2, 867, 880 5.1 1.3 1.2
) 1] H 1% 1, 438, 247 1, 453, 275 1,474, 121 4.8 1.0 1.4
B S H 5k 159, 028 162, 827 167, 550 3.0 2.4 2.9
=2 1% s i b 524, 378 529, 002 534, 405 6.9 0.9 1.0
E N o 1% 675, 062 688, 704 691, 803 4.9 2.0 0.4
1] % il 721, 158 730, 104 739, 534 4.2 1.2 1.3
5 i T i 108, 195 109, 829 111, 098 6.0 1.5 1.2
S il il 72,393 71, 159 73, 493 2.1 -1.7 3.3
T i il 54, 423 54,526 55, 657 4.5 0.2 2.1
P i i 161, 562 163, 644 165, 610 5.8 1.3 1.2
" B Ol 125, 741 125, 826 130, 977 10.9 0.1 4.1
J==2 g R i 34,722 36, 359 37, 065 6.3 4.7 1.9
1K i my 30, 964 30, 808 30, 645 1.6 -0.5 -0.5
Gy ] my 25, 464 25, 366 25, 415 1.1 -0.4 0.2
i 1t iy 44,929 45, 815 45, 259 1.6 2.0 -1.2
] ) g 12,188 12, 085 11,838 3.5 -0.8 -2.0
1] H my 12, 946 13, 375 13,193 0.5 3.3 -1.4
x T iy 18, 709 19, 554 19, 151 4.0 4.5 -2.1
x b M my 14, 855 14, 823 15, 185 3.6 -0.2 2.4
Fen E il 87, 203 88, 988 90, 983 3.7 2.0 2.2
4 il iy 9, 451 9, 893 10, 186 3.8 4.7 3.0
B S iy 16, 729 16, 907 17,727 4.7 1.1 4.9
fit % i 10, 345 10, 603 10, 713 2.9 2.5 1.0
=0 = JII my 13, 685 13,872 14, 587 -0.0 1.4 5.2
x 59 i 5, 865 6,112 6, 330 1.5 4.2 3.6
fik JI i 7,910 8, 364 8, 575 0.5 5.7 2.5
= R i 7,844 8, 087 8, 446 0.8 3.1 4.4
>k R i 227, 634 229, 463 230, 775 8.4 0.8 0.6
=3 J: il 69, 801 70, 352 70, 936 6.4 0.8 0.8
E2] [{°) i 75, 046 75, 366 77, 407 5.1 0.4 2.7
= =) iy 52,979 52, 895 53, 376 5.4 -0.2 0.9
) [ii] g 33,971 34, 381 35, 161 4.9 1.2 2.3
N iy 19, 694 20, 414 19, 582 11.3 3.7 4.1
H e my 30, 364 30, 067 31,518 6.0 -1.0 4.8
o = i) 14, 887 16, 063 15, 650 3.4 7.9 -2.6
el fif] i 315, 298 322,671 322,938 5.4 2.3 0.1
i M i 268, 045 271, 852 273, 256 4.9 1.4 0.5
= ) iy 17, 820 19, 096 19, 384 6.3 7.2 1.5
iR N iy 44,923 45, 705 46, 664 2.9 1.7 2.1
iz e iy 28,976 29, 379 29, 562 2.0 1.4 0.6
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3 IR BATHHETH A — ASYUTHETH RFS

(HAZ: 5 - %)

T R
224 234F i QA JE 224 234E i QA JE
il iy il i 239.3 244.0 249.0 5.9 2.0 2.0
iy 1] Hh Jak 255. 2 258. 8 263.8 5.3 1.4 1.9
™ = Moo IR 188.6 196. 1 204.9 4.5 4.0 4.5
[ 15 Hoo R 231.0 234.9 239. 8 7.9 1.7 2.1
JE W Hh Jak 229.5 236.3 239.8 6.0 3.0 1.5
L Vi il 283. 6 286.9 290.9 4.3 1.2 1.4
s ) iT il 255. 3 261.0 265. 0 6.6 2.2 1.5
= (L i 214.0 213.0 223.5 3.5 -0.5 4.9
Iy L i 203. 0 206. 4 214.2 5.9 1.7 3.8
PN = il 259. 7 263. 4 266. 7 6.4 1.4 1.3
H R i 270.9 268. 7 278.6 10.5 -0.8 3.7
B 1t N il 183.2 196. 2 203.9 8.3 7.1 3.9
i i mT 204.5 204. 1 204. 8 2.4 -0.2 0.3
o L my 211.9 213.3 216.5 2.1 0.7 1.5
) 1t i) 225. 1 231.9 231.8 2.3 3.0 -0.0
[if) I my 194. 4 197.9 197.2 5.9 1.8 -0. 4
5 H my 164. 8 173.0 174.4 2.6 5.0 0.8
N T i) 202. 8 215. 2 214.3 5.6 6.1 -0.4
PN s H i) 182.0 185.0 193.9 4.9 1.6 4.8
E<i) HE il 224.5 231.4 239. 5 4.6 3.1 3.5
4 (L my 148.5 158. 1 165.3 5.4 6.5 4.6
™ s i) 169.9 174.9 186. 2 6.6 2.9 6.5
Z mT 167.8 175.8 181.3 4.7 4.8 3.1
= = my 149. 3 154. 4 165.9 2.0 3.4 7.4
x & Xl 155.9 164.9 173.1 3.9 5.8 5.0
fitk I N 162.7 175.5 185.2 3.2 7.9 5.5
= R ixl 147.9 156. 4 165.3 3.4 5.7 5.7
B/ A i 254. 6 257.8 261.7 9.1 1.3 1.5
& I i 236. 8 240. 1 245. 2 7.4 1.4 2.1
A [ il 223.0 225. 6 233.7 6.0 1.2 3.6
= =) i 211.7 213.2 216.5 6.2 0.7 1.5
) fic} i) 196. 2 201.5 209. 0 6.4 2.7 3.7
7N i) 222.2 234.9 230. 8 13.2 5.7 -1.7
=| i3 mT 198. 3 199.0 211.6 7.1 0.4 6.3
i = i) 187. 4 206. 2 202.9 5.3 10.0 -1.6
5 fif] i 230. 8 238. 4 240. 6 6.4 3.3 0.9
i H i 241. 2 246. 6 251.0 5.9 2.2 1.8
= I i) 230.5 246. 7 251. 1 7.3 7.0 1.8
JE W my 194. 0 199. 4 206. 0 4.1 2.8 3.3
i3 1% i) 187.2 193.2 197.6 3.9 3.2 2.3
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